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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Trend plot forP3-5 0
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P3-5

BfiE) | GEBIETK (D) | EME (EH/AR) | XK R
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13:10 234 150.0 FA| FnHR@13:10 RFFEF (KAERKE)
14:15 234 150.0 FA| FhHR@14:15 KRHMIEHF (CRALESR)
15:30 234 150.0 FA| FnHe@15:30 KHEiEF (REAERES)
2it]1872.0 (8%) 1200.0 3203 KEC: 2080.0, PH: 6.5
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FRV (ml plant-1)

ET (ml/hr/plant)

P3-5_0, Day=32 (2025-04-30)
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P3-5

BriE) | GEBAK(F) | ERE (EH/R) (KSR R

06:40 212 150.0 & =| 1Ri%@06:40 Bz (KRPBEREEE)
07:30 212 150.0 FA| 1BRi&@07:30 B3h (KAEREEE)
08:20 212 150.0 [Z=| 1BRiB008:20 Bzh (KEEREE)
09:10 212 150. 0 E BRi%e09:10 Bzl (RAERE)
10:00 212 150.0 5 {Ri%@10:00 B3 (FAERSE)
10:50 212 150.0 =l RRiB0@10:50 Bz (REAEEE)
11:40 212 150. 0 5| Ri%e11:40 B CGREMERE)
13:00 212 150.0 5| {Ri%e13:00 B3 (RAMERSE)
14:05 212 150.0 = RRiB014:05 B (RFAEESE)
15:05 212 150. 0 E BRi&e15:05 Bzl (GRAERSE)
16:20 212 150. 0 El BRi&e16:20 Bz (GGRAEREE)
23t 2332.0 (11%) 1650. 0 3 3FKEC: 2080.0, PH: 6.5

LORGEBIRTC (300) 54 (234. 0) A FF, WlaEH T X BRIERSEXIER
ZRIAKBREBRE192.0 ml.

large discrepency for begining water status (533:159.0), set to 450.0 ml.
BE R i3t Bl RECEIRE ER K.

REREBFHHEREC/PHETR K, AIREZINIRELRTR



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-5_0, Day=31 (2025-04-29)
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P3-5

BrE) | GEBAK @) | ERE(EAH/K (XS R
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08:45 210 150.0 = {RRiB008:45 Fzh (RFAKEE)
09:40 210 150. 0 | 1Ri%0e09:40 F3 (REAHERSE)
10:35 210 150.0 = {Ri%@10:35 F31 (RAERSE)
11:30 210 150.0 El BRige11:30 Fzh CGRAEREE)
12:25 210 150. 0 E| {Rige12:25 Fzh (REERSE)
13:30 210 150.0 E BRi%e13:30 Fz1 CGRAERESE)
14:30 210 150.0 = RRiB014:30 Fzh (RFAKEE)
15:40 210 150. 0 5| 1Ri%e15:40 F51 GREAEREE)
2it]2100.0 (100%) 1500. 0 3Z03KEC: 2080.0, PH: 6.5

LORGEBIRTC (210) 5747 (234. 0) A°FF, AlaEH T X BRIERSEXIER
ZRIAKBREBRE134.0 ml.

large discrepency for begining water status (454:87.0), set to 381.0 ml.
BE R i3t Bl RECEIRE ER K.
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FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-5_0, Day=30 (2025-04-28)
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P3-5

BrE) | GEBAK @) | ERE(EAH/K (XS R

07:10 210 150.0 5| {Ri%e07:10 Fzh (FAMERSE)
08:05 210 150.0 E[ 1BRi&@08:05 Fzh (RAEREE)
08:55 210 150.0 = {RRiB008:55 Fzh (RFAKEE)
09:45 210 150. 0 | 1Ri%0e09:45 Fx (REAHERSE)
10:40 210 150.0 = {Rig010:40 F31 (RAERSE)
11:35 210 150.0 = RRiBe11:35 Fzh (REAKEE)
12:35 210 150. 0 E| {Rig012:35 Fzh (REERSE)
13:45 210 150.0 F BRige13:45 Fz1 CGRAERESE)
14:45 210 150.0 = RRiB014:45 Fz (REAKEEE)
15:55 210 150.0 5| {Ri%e15:55 F3 (RAERSE)
2i3t[ 2100.0 (10%) 1500. 0 3Z03KEC: 2080.0, PH: 6.5

large discrepency for begining water status (467:12.0), set to 376.0 ml.
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FRV (ml plant-1)

ET (ml/hr/plant)

1

ET (ml/hr/plant)

+

P3-5_0, Day=29 (2025-04-27)
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